Problem set 5. ECON 4715
Seminar week 48
Principal-agent model and efficiency wages

Consider the model of section 3.1 in ch. 6 as a model of executive pay. The owner of the firm is able to measure the value of sales of the firm, but is unable to distinguish between the results of the effort of the manager and general market conditions for the good produced. 

1) Discuss how a bonus rate on the value of sales should be designed. Next show how the bonus rate changes with the volatility of the product market. 

2) Assume now that the owner may observe total sales in the industry. This measure is positively correlated with the unobserved variation in the firm’s sales. Discuss a remuneration scheme that also takes this observation into account. 

3) Assume now that all unobserved shocks to the firm are industry specific and that the unobserved variation in the firm’s sales is perfectly correlated with variations in total sales in the industry. 
4) Does the manager obtain a rent in these two models?

Consider next the stationary efficiency wage model of Shapiro and Stiglitz (sect. 4.4.1) as a model of executive pay. Assume that the expected utility of loosing the job is given by the wage in regular (non-managerial) employment. 

1) What is the main difference in assumptions about information between these two models?

2) Does the manager obtain a rent in this model? Explain why.

